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Face Recognition Based on Gabor Wavelet Transform
and Support Vector Machines

L1 Yunfeng™?, OU Zongying®

(1. Key Laboratory for Precision and Non-traditional Machining Technology of Ministry of Education, Dalian University of Technology,
Dalian 116023; 2. Electromechanical Engineering College, Henan University of Science and Technology, Luoyang 471003)

Abstract This paper combines the Gabor wavelet transform with support vector machines classification method for face recognition. Facial
feature points are located roughly through the matching between certain face templates which are represented by Gabor wavelet transform
coefficients and a face image. Gabor wavelet transform coefficients are extracted at every facial feature points and these coefficients are catenated
into a vector to represent a face image. A hierarchical decomposed support vector machines binary decision tree is used for classification.
Experimental results show the feasibility of the proposed face recognition method.
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